Ratio to DO

1960 GeV ppbar Z (Drell-Yan)

1/0;do/d ®Q

EI T T T T | I I I T T TTT | I I I T T TTT IEE
— * - %
B (pn (electron channel, |yz| <1) 13
10° £ =z
— = [T}
— — ANl
T e _o:'
10 BorRemg —
= By 32
L —H O
u =
1 x
= B =
- " =
10_1 = .‘!;. T r—
= B =3
= W a5
u . e
-2 | s _1©
107 E !Q..‘! =R
- . EE
= DO B, %
102 & --©O-- Herwig++ 2.4.2 default i! —=c
= A Herwig++ Powheg 2.5.0 default % 2
L A -
\ — --3-- Herwig 7.2.0 default = 8
-4 | —lwn
107 £ ek
— o
- — O
- HH - H - H .
2 & =2
- 4
B ,(? T T
1 B ;@;4\-4& )
0.5 —




	Contents
	Page 1


